

Power Series as Functions

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$.

It defines a function $f: (a-R, a+R) \rightarrow \mathbb{R}$ by $f(x) = \sum_{n=0}^{\infty} c_n(x-a)^n$.

The endpoints $a \pm R$ can also be included in the domain, provided the series converges there.

Is $f(x)$ differentiable? The obvious candidate for its derivative is its **derived power series** $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ obtained by **term-by-term differentiation**.

We will prove this is the right candidate.

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Proof. Assume $a = 0$. Let $0 < x < R$.

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Proof. Assume $a = 0$. Let $0 < x < R$.

Pick h such that $0 < x < x+h < R$. Then

$$\frac{f(x+h) - f(x)}{h} = \sum_{n=1}^{\infty} c_n \frac{(x+h)^n - x^n}{h} = \sum_{n=1}^{\infty} n c_n y_n^{n-1}$$

for some $x < y_n < x+h$, by the Mean Value Theorem.

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Proof. Assume $a = 0$. Let $0 < x < R$.

Pick h such that $0 < x < x+h < R$. Then

$$\frac{f(x+h) - f(x)}{h} = \sum_{n=1}^{\infty} c_n \frac{(x+h)^n - x^n}{h} = \sum_{n=1}^{\infty} n c_n y_n^{n-1}$$

for some $x < y_n < x+h$, by the Mean Value Theorem.

Since the series for $f(x+h)$ and $f(x)$ converge absolutely, so does $\sum n c_n y_n^{n-1}$. By Comparison Test, $\sum n c_n x^{n-1}$ converges absolutely.

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Proof. Assume $a = 0$. Let $0 < x < R$.

Pick h such that $0 < x < x+h < R$. Then

$$\frac{f(x+h) - f(x)}{h} = \sum_{n=1}^{\infty} c_n \frac{(x+h)^n - x^n}{h} = \sum_{n=1}^{\infty} n c_n y_n^{n-1}$$

for some $x < y_n < x+h$, by the Mean Value Theorem.

Since the series for $f(x+h)$ and $f(x)$ converge absolutely, so does $\sum n c_n y_n^{n-1}$. By Comparison Test, $\sum n c_n x^{n-1}$ converges absolutely.

So the derived series converges for $0 < x < R$. Hence its radius of convergence is at least R . On the other hand, for $n > x$ we have $|n c_n x^{n-1}| \geq |c_n x^n|$ and so the derived series diverges for $x > R$.

Convergence of Desired Series

Theorem 7

Let $\sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then its derived series $\sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$ also has radius of convergence R .

Proof. Assume $a = 0$. Let $0 < x < R$.

Pick h such that $0 < x < x+h < R$. Then

$$\frac{f(x+h) - f(x)}{h} = \sum_{n=1}^{\infty} c_n \frac{(x+h)^n - x^n}{h} = \sum_{n=1}^{\infty} n c_n y_n^{n-1}$$

for some $x < y_n < x+h$, by the Mean Value Theorem.

Since the series for $f(x+h)$ and $f(x)$ converge absolutely, so does $\sum n c_n y_n^{n-1}$. By Comparison Test, $\sum n c_n x^{n-1}$ converges absolutely.

So the derived series converges for $0 < x < R$. Hence its radius of convergence is at least R . On the other hand, for $n > x$ we have $|n c_n x^{n-1}| \geq |c_n x^n|$ and so the derived series diverges for $x > R$. Hence the radius of convergence is exactly R .

Differentiability of Power Series

Theorem 8

Let $f(x) = \sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then

$$f'(x) = \sum_{n=1}^{\infty} n c_n (x-a)^{n-1} \text{ for } |x-a| < R.$$

Differentiability of Power Series

Theorem 8

Let $f(x) = \sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then

$$f'(x) = \sum_{n=1}^{\infty} n c_n (x-a)^{n-1} \text{ for } |x-a| < R.$$

Proof. Again let $a = 0$. We investigate the gap between the difference quotient and the candidate derivative $g(x) = \sum_{n=1}^{\infty} n c_n (x-a)^{n-1}$.

Differentiability of Power Series

Theorem 8

Let $f(x) = \sum_{n=0}^{\infty} c_n(x-a)^n$ have radius of convergence $R > 0$. Then

$$f'(x) = \sum_{n=1}^{\infty} n c_n (x-a)^{n-1} \text{ for } |x-a| < R.$$

Proof. Again let $a = 0$. We investigate the gap between the difference quotient and the candidate derivative $g(x) = \sum_{n=1}^{\infty} n c_n (x-a)^{n-1}$.

$$\begin{aligned} \frac{f(y) - f(x)}{y - x} - g(x) &= \sum_{n=1}^{\infty} c_n \frac{y^n - x^n}{y - x} - \sum_{n=1}^{\infty} n c_n x^{n-1} \\ &= \sum_{n=1}^{\infty} c_n \left[\frac{y^n - x^n}{y - x} - n x^{n-1} \right] \end{aligned}$$

(continued ...)

Differentiability of Power Series

(... continued)

$$\begin{aligned} \frac{f(y) - f(x)}{y - x} - g(x) &= \sum_{n=1}^{\infty} c_n \left[\sum_{k=0}^{n-1} y^k x^{n-k-1} - n x^{n-1} \right] \\ &= \sum_{n=1}^{\infty} c_n \left[\sum_{k=1}^{n-1} x^{n-k-1} (y^k - x^k) \right]. \end{aligned}$$

Fix a number ρ such that $|x|, |y| < \rho < R$. Then

$$|y^k - x^k| = |y - x| \left| \sum_{j=0}^{k-1} y^j x^{k-1-j} \right| \leq k |y - x| \rho^{k-1}.$$

(continued ...)

Differentiability of Power Series

(... continued)

$$\begin{aligned}
 \text{Hence, } \left| \frac{f(y) - f(x)}{y - x} - g(x) \right| &\leq |y - x| \sum_{n=1}^{\infty} |c_n| \left[\sum_{k=1}^{n-1} k \rho^{n-2} \right] \\
 &= |y - x| \sum_{n=1}^{\infty} |c_n| \frac{n(n-1)}{2} \rho^{n-2} \\
 &= M |y - x|.
 \end{aligned}$$

Therefore, $\lim_{y \rightarrow x} \left(\frac{f(y) - f(x)}{y - x} - g(x) \right) = 0$ and $f'(x) = g(x)$. □

Example

Example 9

We have seen that the power series $\sum_{n=0}^{\infty} x^n/n!$ converges for every $x \in \mathbb{R}$. Thus, it defines a differentiable function $f: \mathbb{R} \rightarrow \mathbb{R}$. Note that

$$f(0) = 1 \quad \text{and} \quad f'(x) = \sum_{n=1}^{\infty} n \frac{x^{n-1}}{n!} = \sum_{n=1}^{\infty} \frac{x^{n-1}}{(n-1)!} = f(x).$$

Therefore $f(x)$ is the exponential function, and we get

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \cdots.$$

In particular, $e = \sum_{n=0}^{\infty} \frac{1}{n!}$.

Applications of Geometric Series

Differentiating the geometric series repeatedly gives more power series expansions, each valid for $|x| < 1$.

$$\frac{1}{(1-x)^2} = \sum_{n=1}^{\infty} nx^{n-1} = 1 + 2x + 3x^2 + \dots$$

$$\frac{1}{(1-x)^3} = \sum_{n=2}^{\infty} \frac{n(n-1)}{2} x^{n-2} = 1 + 3x + 6x^2 + \dots$$

$$\frac{1}{(1-x)^k} = \sum_{n=k-1}^{\infty} \binom{n}{k-1} x^{n-k+1}.$$

Applications of Geometric Series

Integration gives other interesting series.

$$\begin{aligned} \log(1+x) &= \int_0^x \frac{1}{1+t} dt = \int_0^x \left(\sum_{n=0}^{\infty} (-1)^n t^n \right) dt \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n}{n+1} x^{n+1} = x - \frac{x^2}{2} + \frac{x^3}{3} - + \dots \quad \text{for } |x| < 1. \end{aligned}$$

Task 1

Prove that $\arctan x = x - \frac{x^3}{3} + \frac{x^5}{5} - + \dots$ *for* $|x| < 1$.

Abel's Theorem

Theorem 11

Suppose a power series with centre at $x = a$ has radius of convergence $R > 0$. If the power series converges at $a + R$ then the function defined by it is left continuous at that point.

Abel's Theorem

Theorem 11

Suppose a power series with centre at $x = a$ has radius of convergence $R > 0$. If the power series converges at $a + R$ then the function defined by it is left continuous at that point.

Proof. We may assume the power series has the form $\sum_{n=0}^{\infty} c_n x^n$, $R = 1$, and $\sum_{n=0}^{\infty} c_n$ converges. Now take any x such that $0 < x < 1$.

Abel's Theorem

Theorem 11

Suppose a power series with centre at $x = a$ has radius of convergence $R > 0$. If the power series converges at $a + R$ then the function defined by it is left continuous at that point.

Proof. We may assume the power series has the form $\sum_{n=0}^{\infty} c_n x^n$, $R = 1$, and $\sum_{n=0}^{\infty} c_n$ converges. Now take any x such that $0 < x < 1$.

Denote $S_n = c_0 + \cdots + c_n$ and $S = \lim S_n$. First we have,

$$\sum_{n=0}^m c_n x^n = x^m S_m + \sum_{n=0}^{m-1} (x^n - x^{n+1}) S_n = x^m S_m + (1-x) \sum_{n=0}^{m-1} x^n S_n,$$

obtained by substituting $c_n = S_n - S_{n-1}$ and regrouping.

By letting $m \rightarrow \infty$ we obtain

$$\sum_{n=0}^{\infty} c_n x^n = (1-x) \sum_{n=0}^{\infty} x^n S_n.$$

(continued ...)

Abel's Theorem

(... continued)

$$\text{Hence, } \sum_{n=0}^{\infty} c_n x^n - \sum_{n=0}^{\infty} c_n = (1-x) \sum_{n=0}^{\infty} x^n (S_n - S).$$

Abel's Theorem

(... continued)

$$\text{Hence, } \sum_{n=0}^{\infty} c_n x^n - \sum_{n=0}^{\infty} c_n = (1-x) \sum_{n=0}^{\infty} x^n (S_n - S).$$

Given $\epsilon > 0$ we first choose N such that $n \geq N$ implies $|S_n - S| < \epsilon/2$.

Abel's Theorem

(... continued)

$$\text{Hence, } \sum_{n=0}^{\infty} c_n x^n - \sum_{n=0}^{\infty} c_n = (1-x) \sum_{n=0}^{\infty} x^n (S_n - S).$$

Given $\epsilon > 0$ we first choose N such that $n \geq N$ implies $|S_n - S| < \epsilon/2$.

Then,

$$\begin{aligned} \left| \sum_{n=0}^{\infty} c_n x^n - \sum_{n=0}^{\infty} c_n \right| &\leq |1-x| \sum_{n=0}^{N-1} |x|^n |S_n - S| + |1-x| \sum_{n=N}^{\infty} |x|^n |S_n - S| \\ &\leq |1-x| \sum_{n=0}^{N-1} |S_n - S| + \epsilon/2. \end{aligned}$$

The choice of N was independent of x , hence $\sum_{n=0}^{N-1} |S_n - S|$ is also independent of x . Therefore, for x close enough to 1, we'll have

$|1-x| \sum_{n=0}^{N-1} |S_n - S| < \epsilon/2$. This completes the proof. □

Taylor Polynomials and Series

Recall that the Taylor polynomials of $f(x)$ are defined by

$$T_N(x) = \sum_{n=0}^N \frac{f^{(n)}(a)}{n!} (x - a)^n.$$

The Taylor polynomials of a smooth function are the partial sums for its Taylor series. Hence

$$T_f(x) = \lim_{n \rightarrow \infty} T_n(x).$$

So the question of whether $f(x)$ equals $T_f(x)$ can be addressed by checking whether $\lim_{N \rightarrow \infty} R_N(x) = 0$, where $R_N(x)$ is the remainder after N terms.

